

ABC Bid Data

STATEWIDE TOLL PLAZA REHABILITATION

43306

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	STATEWIDE TOLL PLAZA REHABILITATION 43306 NON-FEDERAL May 25, 2023, 2:00 PM Toll Plaza Rehabilitation at Hampton Main & Hampton Side May 17, 2024 Rockingham	Awarded To: Amount: Award Date:	AUDLEY, R. S., INC. 1113 ROUTE 3A BOW, NH 03304-4025 \$2,826,400.00	Certified by:	WILLIAM.J.OLDENBURG Director of Project Development			
Summary of Bidders								

Contractor	Bid Amount	Rank
AUDLEY, R. S., INC.	\$2,826,400.00	А
1113 ROUTE 3A, BOW NH 03304-4025		
EVROKS CORPORATION	\$3,430,250.00	В
23 INDUSTRIAL DRIVE, NORTHFIELD NH 03276		

ABC Bid Data



STATEWIDE TOLL PLAZA REHABILITATION

43306

NON-FEDERAL

				PS&E		AUDLEY, R. S., INC. 1113 ROUTE 3A BOW, NH 03304-4025		EVROKS CORPORATION 23 INDUSTRIAL DRIVE NORTHFIELD, NH 03276	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		-							
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	170.00	\$1,000.00	\$170,000.00	\$2,000.00	\$340,000.00	\$2,000.00	\$340,000.00
520.01	CONCRETE CLASS AA	CY	5.00	\$1,750.00	\$8,750.00	\$2,600.00	\$13,000.00	\$4,500.00	\$22,500.00
520.0151	CONCRETE CLASS AA MODIFIED - TUNNEL REPAIR	CY	53.00	\$1,750.00	\$92,750.00	\$2,000.00	\$106,000.00	\$1,000.00	\$53,000.00
521.22	FAST-SET CONCRETE PATCHING MORTAR (VERTICAL AND OVERHEAD)	CF	351.00	\$325.00	\$114,075.00	\$450.00	\$157,950.00	\$400.00	\$140,400.00
526.2	EPOXY FOR NON-MOVING CRACKS	LF	365.00	\$125.00	\$45,625.00	\$110.00	\$40,150.00	\$75.00	\$27,375.00
526.3	HIGH MOLECULAR WEIGHT METHACRYLATE CRACK SEALER	GAL	24.00	\$450.00	\$10,800.00	\$550.00	\$13,200.00	\$2,500.00	\$60,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	425.00	\$100.00	\$42,500.00	\$120.00	\$51,000.00	\$150.00	\$63,750.00
544.201	REINFORCING STEEL - EPOXY COATED	LB	1,400.00	\$3.50	\$4,900.00	\$5.00	\$7,000.00	\$8.00	\$11,200.00
544.22	REINFORCING STEEL (EPOXY COATED) DOWEL CONNECTORS	LB	1,050.00	\$5.00	\$5,250.00	\$7.00	\$7,350.00	\$15.00	\$15,750.00
550.1	STRUCTURAL STEEL (F)	LB	2,100.00	\$5.00	\$10,500.00	\$8.00	\$16,800.00	\$15.00	\$31,500.00
556.512	PAINTING EXISTING STRUCTURAL STEEL- MISCELLANEOUS	SF	170.00	\$65.00	\$11,050.00	\$200.00	\$34,000.00	\$350.00	\$59,500.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,300.00	\$35.00	\$45,500.00	\$75.00	\$97,500.00	\$25.00	\$32,500.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$5,000.00	\$15,000.00	\$8,000.00	\$24,000.00	\$5,300.00	\$15,900.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$125,000.00	\$125,000.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,500.00	\$10,000.00	\$10,000.00	\$40,000.00	\$7,500.00	\$30,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$10,000.00	\$30,000.00	\$50,000.00	\$150,000.00	\$5,000.00	\$15,000.00
670.551	TOLL BOOTH REMOVAL AND REINSTALLATION	U	7.00	\$10,000.00	\$70,000.00	\$15,000.00	\$105,000.00	\$24,950.00	\$174,650.00
670.572	TOLL PLAZA TUNNEL REPAIR - TEMPORARY UTILITY SUPPORT	U	1.00	\$175,000.00	\$175,000.00	\$660,000.00	\$660,000.00	\$844,000.00	\$844,000.00
692.	MOBILIZATION	U	1.00	\$150,150.00	\$150,150.00	\$367,000.00	\$367,000.00	\$768,500.00	\$768,500.00
697.25	PROJECT HEALTH AND SAFETY PLAN (HEARING AND RESPIRATORY)	U	1.00	\$4,000.00	\$4,000.00	\$2,250.00	\$2,250.00	\$25,300.00	\$25,300.00
698.12	FIELD OFFICE TYPE B	MON	11.00	\$2,900.00	\$31,900.00	\$2,200.00	\$24,200.00	\$2,675.00	\$29,425.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1008.411	ADDITIONS AND ALTERATIONS AS NEEDED - HVAC DUCT WORK REPAIRS	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00

ABC Bid Data



STATEWIDE TOLL PLAZA REHABILITATION

43306

NON-FEDERAL

				PS&E		1113	Y, R. S., INC. ROUTE 3A H 03304-4025	23 INDUS	CORPORATION STRIAL DRIVE ELD, NH 03276
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.436	ALTERATIONS AND ADDITIONS AS NEEDED - COMMUNICATION UPGRADES	\$	85,000.00	\$1.00	\$85,000.00	\$1.00	\$85,000.00	\$1.00	\$85,000.00
1008.441	ALTERATIONS AND ADDITIONS AS NEEDED - REMOVE/REINSTALL TOLL PLAZA EQUIPMENT	\$	175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00
1008.442	ALTERATIONS AND ADDITIONS AS NEEDED - REMOVE/REINSTALL TOLL PLAZA ORT EQUIPMENT	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
			Totals:		\$1,642,750.00		\$2,826,400.00		\$3,430,250.00
			Alt. Totals:						
			Totals:		\$1,642,750.00		\$2,826,400.00		\$3,430,250.00



STATEWIDE TOLL PLAZA REHABILITATION

43306

NON-FEDERAL

				A-Bide	der	PS8	λΕ	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	170.00	\$2,000.00	\$340,000.00	\$1,000.00	\$170,000.00	\$170,000.00
520.01	CONCRETE CLASS AA	СҮ	5.00	\$2,600.00	\$13,000.00	\$1,750.00	\$8,750.00	\$4,250.00
520.0151	CONCRETE CLASS AA MODIFIED - TUNNEL REPAIR	СҮ	53.00	\$2,000.00	\$106,000.00	\$1,750.00	\$92,750.00	\$13,250.00
521.22	FAST-SET CONCRETE PATCHING MORTAR (VERTICAL AND OVERHEAD)	CF	351.00	\$450.00	\$157,950.00	\$325.00	\$114,075.00	\$43,875.00
526.2	EPOXY FOR NON-MOVING CRACKS	LF	365.00	\$110.00	\$40,150.00	\$125.00	\$45,625.00	(\$5,475.00)
526.3	HIGH MOLECULAR WEIGHT METHACRYLATE CRACK SEALER	GAL	24.00	\$550.00	\$13,200.00	\$450.00	\$10,800.00	\$2,400.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	425.00	\$120.00	\$51,000.00	\$100.00	\$42,500.00	\$8,500.00
544.201	REINFORCING STEEL - EPOXY COATED	LB	1,400.00	\$5.00	\$7,000.00	\$3.50	\$4,900.00	\$2,100.00
544.22	REINFORCING STEEL (EPOXY COATED) DOWEL CONNECTORS	LB	1,050.00	\$7.00	\$7,350.00	\$5.00	\$5,250.00	\$2,100.00
550.1	STRUCTURAL STEEL (F)	LB	2,100.00	\$8.00	\$16,800.00	\$5.00	\$10,500.00	\$6,300.00
556.512	PAINTING EXISTING STRUCTURAL STEEL- MISCELLANEOUS	SF	170.00	\$200.00	\$34,000.00	\$65.00	\$11,050.00	\$22,950.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,300.00	\$75.00	\$97,500.00	\$35.00	\$45,500.00	\$52,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	3.00	\$8,000.00	\$24,000.00	\$5,000.00	\$15,000.00	\$9,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$100,000.00	\$100,000.00	\$125,000.00	\$125,000.00	(\$25,000.00)



STATEWIDE TOLL PLAZA REHABILITATION

43306

NON-FEDERAL

				A-Bidder		PS8	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$10,000.00	\$40,000.00	\$2,500.00	\$10,000.00	\$30,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	3.00	\$50,000.00	\$150,000.00	\$10,000.00	\$30,000.00	\$120,000.00
670.551	TOLL BOOTH REMOVAL AND REINSTALLATION	U	7.00	\$15,000.00	\$105,000.00	\$10,000.00	\$70,000.00	\$35,000.00
670.572	TOLL PLAZA TUNNEL REPAIR - TEMPORARY UTILITY SUPPORT	U	1.00	\$660,000.00	\$660,000.00	\$175,000.00	\$175,000.00	\$485,000.00
692.	MOBILIZATION	U	1.00	\$367,000.00	\$367,000.00	\$150,150.00	\$150,150.00	\$216,850.00
697.25	PROJECT HEALTH AND SAFETY PLAN (HEARING AND RESPIRATORY)	U	1.00	\$2,250.00	\$2,250.00	\$4,000.00	\$4,000.00	(\$1,750.00)
698.12	FIELD OFFICE TYPE B	MON	11.00	\$2,200.00	\$24,200.00	\$2,900.00	\$31,900.00	(\$7,700.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1008.411	ADDITIONS AND ALTERATIONS AS NEEDED - HVAC DUCT WORK REPAIRS	\$	125,000.00	\$1.00	\$125,000.00	\$1.00	\$125,000.00	\$0.00
1008.436	ALTERATIONS AND ADDITIONS AS NEEDED - COMMUNICATION UPGRADES	\$	85,000.00	\$1.00	\$85,000.00	\$1.00	\$85,000.00	\$0.00
1008.441	ALTERATIONS AND ADDITIONS AS NEEDED - REMOVE/REINSTALL TOLL PLAZA EQUIPMENT	\$	175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$0.00
1008.442	ALTERATIONS AND ADDITIONS AS NEEDED - REMOVE/REINSTALL TOLL PLAZA ORT EQUIPMENT	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

Total:

\$2,826,400.00

\$1,642,750.00 \$1,183,650.00